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.model nmos nmos level=1 vto=0.7 kp=5e-5 lambda=0.05

ml d g vss vss nmos w=98.765u 1=2u
vdd vdd 0 2.5

vss vss 0 -2.5

isup vdd d 0.28125m

vbias g 0 -1.35

.op
.tf v(d) vbias
.end

Wk Operating points
+0:d = (98.0359u)0:g = -1.3500 O0:vdd =
+0:vss = -Z.5000
Rk small-signal transfer characteristics
v(d)/vbias ~100.0004
input resistance at vbias ~0006+20

output resistance at v(d)

80.0003k

.mode1l nmos nmos level=1l vto=0.7 kp=5e-5 Tambda=0.05

ml d g vss vss nmos w=98.765u 1=2u
vdd vdd 0 2.5

vss vss 0 -2.5

isup vdd d 0.28125m

vbias g 0 -1.35

r1 d 0 20k

.op
.tf v({d) vbias
.end

whAHE Operating points
+0:d =0:g - -1.3500 0:vdd
+0:vss = -2.5000
hhdhd small-signal transfer characteristics
v(d)/vbias .
input resistance at vbias

output resistance at v(d)
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